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סוגרים

חילוק כפל

חיסור חיבור

המלך1.

הנסיכים2.

העם פשוטי3.

1) 46 - 35 - 7 = 

2) 28 - (15 + 3) =

3) 80 : 20 x 2 =

4) 24 : (3 x 2) =

5) 30 : 5 x 3 = 

6) 64 - 44 + 6 – 12 =

7) 70 - (20 + 45 - 0) = 

8) 36 : 6 x 2  x 1 =

9) 15 + 23 + 35 + 7 =

10) 40 : 5 + 5 – (12 : 4) =
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הילה אלוני: הכינה
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4 x 2 = 8

24 : 6 = 4

6 x 3 = 18

20 + 6 – 12 =  26 – 12 =  24

26

70 – (65 – 0) =  70 – 65  = 5

65

6 x 2 x 1  =  12 x 1  = 12

12

15 + 35 +23 + 7 = 15 + 35 + 23 + 7 =  50 + 23 + 7 =  50 + 30 = 80

50 30

40 : 5 + 5 – 3 =  8 + 5 – 3 =  13 – 3 = 10 

8 13

פתרונות-סדר פעולות החשבון 

סדר השלטון
בממלכת החשבון 
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